® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization™
INSTALLATION INSTRUCTIONS

DOOR-MOUNT KIT

TOOLS REQUIRED:

PARTS LIST
N D ipti Qty.
CARE AND MAINTENANCE: ° cecripton ¥
A L Brackets 2
Clean with a damp cloth and
wipe parts dry. B Door-Mount Brackets 2
C M4 x 12mm Flat Head Screws 4
D M4 Nylon Locknuts 4
E #6 x 1/2" Flat Head Screws 6
F 1/4-20 x 1/2" Fillister Head Screws 2
G 1/4-20 x 1/2" Phillips Bolts (w/ Washer) 2
H 1/4-20 x 1" Pan Head Screws 2
| 1/4-20 x 1" Phillips Bolts (w/ Washer) 2
J Door-Mount Bracket Spacers 4
K Double-Sided Tape 4
© © ®
T >
o m @
° o
~
° o
® © ®
° 4 @) m A
VIDEO TUTORIAL W )
° o
=
= ® © ®
© <
oee ) <o

WWW.REV-A-SHELF.COM/VIDEOS
I-RV-DM17KIT-0825



il 2 [QIOIOE J&

Ensure the unit is securely installed in the cabinet. At eacn Limalel 1) 0 8 2 ele wailng 05 e
3 y ! onet. Flat Head Screws (C) and (2) M4 Nylon Locknuts (D) per
Remove the cabinet door and hinges to begin installation. bracket

BOwmne K

Attach the Door-Mount Brackets (B) to the outside of
the L-Brackets (A) using (1) 1/4-20 x 1/2" Phillips Bolt
(w/ Washer) (G) and (1) 1/4-20 x 1/2" Fillister Head
Screw (F) per bracket.

To prevent the screws from going through and damaging
the door, align the Door-Mount Brackets (B) with the thickest
part of the cabinet door. Proceed to Step 4B if the brackets
don't reach the thickest part of the door.




4 [(EED H<

IF SPACERS ARE NOT NEEDED, SKIP TO STEP 5. Apply Double-Sided Tape (K) to the Door-Mount
To extend the Door-Mount Brackets (B) to the thicker Brackets (B). Align the cabinet door to ensure it is

part of the door, use (2) Door-Mount Bracket Spacers (J), level, then firmly press it onto the brackets to secure.
(1) 1/4-20 x 1" Pan Head Screw (H), and (1) 1/4-20 x 1"

Phillips Bolt (w/ Washer) (I). Repeat for the other bracket.

Loosen the bolts to adjust the door.

Attach each Door-Mount Bracket (B) to the cabinet door Once aligned, re-tighten.

with (2) #6 x 1/2" Flat Head Screws (E) into slotted locations,
to allow side to side adjustment. Once door is aligned,
secure a third screw into one of the center holes.




@ REV-A-SHELF

Innovation through Organization”

® 12400 Earl Jones Way
° ° Louisville, KY 40299
rev-a-shelf.com

P . . Customer Service: 800-626-1126
Innovation through Organization




® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization™

INSTRUCCIONES DE INSTALACION / LES INSTRUCTIONS D’INSTALLATION

KIT DE MONTAJE DE PUERTA / KIT DE MONTAGE POUR POR

Herramientas Requeridas:
Outils Requis:

(#2)
D

CUIDADO / ENTRETIEN:

Limpie con un pafio himedo y
seque las partes.

Nettoyer avec un chiffon
humide et essuyer pour sécher
complétement.

VIDEO TUTORIAL

WWW.REV-A-SHELF.COM/VIDEOS

LISTA DE PARTES / LISTE DES PIECES

No. Description Qty.
A Soportes en L / Equerres en L 2
B Soportes de montaje de puerta / Supports de montage de porte 2
C Tornillos de cabeza plana M4 x 12 mm / Vis a téte plate M4 x 12 mm 4
D Tuerca de seguridad de nailon M4 / Ecrou de blocage en nylon M4 4
E Tornillos de cabeza plana #6 x 1/2" / Vis a téte plate #6 x 1/2" 6
F Tornillo de cabeza cilindrica 1/4-20 x 1/2" / Vis a téte cylindrique 1/4-20 x 1/2" 2
G Perno Phil\'ip's 1/4-20 x 1/2" con arandela / 2

Boulon Phillips 1/4-20 x 1/2" avec rondelle
H Tornillo de cabeza redonda 1/4-20 x 1" / Vis a téte bombée 1/4-20 x 1" 2
| Perno Phillips 1/4-20 x 1" con arandela / Boulon Phillips 1/4-20 x 1" avec rondelle 2
J Espaciador para soporte de montaje de puerta / 4
Entretoise pour support de montage de porte
K Cinta de doble cara / Ruban double face 2

© ® ®
[T Ot ) P
N ° © o
s= |

@ ®

®
! » Qo o

[
]

°©

18] o °
. =
o g S ° ®
° ° N
] L

e <o

|-RV-DM17KIT-0825



Asegurese de que la unidad esté instalada de forma segura en
el gabinete. Retire la puerta del gabinete y las bisagras para
comenzar la instalacion.

Assurez-vous que l'unité est solidement installée dans I'armoire.
Retirez la porte de I'armoire et les charniéres pour commencer
I'installation.

Fije los soportes de montaje de puerta (B) al exterior de los
soportes en L (A) utilizando un (1) perno Phillips de 1/4-20 x 1/2"
con arandela (G) y un (1) tornillo de cabeza cilindrica de 1/4-20 x
1/2" (F) por soporte.

Fixez les supports de montage de porte (B) a I'extérieur des
équerres en L (A) a I'aide d'un (1) boulon Phillips 1/4-20 x 1/2"
avec rondelle (G) et d'une (1) vis a téte cylindrique 1/4-20 x 1/2"
(F) par support.

2 [

Fije cada soporte en L (A) a una guia utilizando dos (2) tornillos
de cabeza plana M4 x 12 mm (C) y dos (2) tuercas de seguridad
de nailon M4 (D) por soporte. Nota: Los soportes en L pueden
montarse en el interior o exterior del marco de alambre.

Fixez chaque équerre en L (A) a une glissiére a I'aide de deux
(2) vis a téte plate M4 x 12 mm (C) et de deux (2) écrous de
blocage en nylon M4 (D) par équerre. Remarque : Les équerres
en L peuvent étre montées a I'intérieur ou a I'extérieur du cadre
en fil métallique.

Para evitar que los tornillos atraviesen y dafien la puerta, alinee
los soportes de la puerta con la parte mas gruesa de la puerta
del gabinete.

Pour éviter que les vis ne traversent et n‘'endommagent la porte,
alignez les supports de porte avec la partie la plus épaisse de la
porte de I'armoire.




4 [(EOCAC IO

Para extender los soportes de montaje de puerta (B) hasta la parte
mas gruesa de la puerta, use dos (2) espaciadores (J), un (1) tornillo
de cabeza redonda 1/4-20 x 1" (H) y un (1) perno Phillips con
arandela 1/4-20 x 1" (). Repita el procedimiento para el otro soporte.

Pour étendre les supports de montage de porte (B) jusqu'a la partie
la plus épaisse de la porte, utilisez deux (2) entretoises (J), une (1)
vis a téte cylindrique 1/4-20 x 1" (H) et un (1) boulon Phillips avec
rondelle 1/4-20 x 1" (I). Répétez pour I'autre support.

Fije cada soporte de montaje de puerta (B) a la puerta del gabinete
con (2) tornillos de cabeza plana #6 x 1/2" (E) en las ubicaciones

ranuradas, para permitir el ajuste lateral. Una vez que la puerta esté
alineada, asegure un tercer tornillo en uno de los agujeros centrales.

Fixez chaque support de montage de porte (B) a la porte de
I'armoire avec (2) vis a téte plate #6 x 1/2" (E) dans les emplacements
fendus, afin de permettre un ajustement latéral. Une fois la porte
alignée, fixez une troisiéme vis dans ['un des trous centraux.

H<

Aplique la cinta de doble cara (K) a los soportes de montaje de
puerta (B). Alinee la puerta del gabinete para asegurarse de que
esté nivelada, luego presionela firmemente contra los soportes
para fijarla.

Appliquez le ruban double face (K) sur les supports de montage
de porte (B). Alignez la porte de I'armoire pour vous assurer
qu'elle est de niveau, puis appuyez fermement dessus pour la
fixer aux supports.

Afloje los pernos para ajustar la puerta. Una vez alineada,
vuelva a apretarlos.

Desserrez les boulons pour ajuster la porte. Une fois alignée,
resserrez-les.




@ REV-A-SHELF

Innovation through Organization”

® 12400 Earl Jones Way
° ° Louisville, KY 40299
rev-a-shelf.com

P . . Customer Service: 800-626-1126
Innovation through Organization




